6" Grade Math
Week of May 4th-gth

Monday, May 4t"- American Math and Drops in the Bucket
Tuesday, May 5*"- American Math and Drops in the Bucket
Wednesday, May 6t"- American Math and Drops in the Bucket
Thursday, May 7t"- American Math and Drops in the Bucket
Friday, May 8%"- American Math and Drops in the Bucket



DROPS IN THE BUCKET - MATH LEVEL E NUMBER 30
AE } SCORE

28 = 16+8= 13-9=

45=_ xX_ 20+-5= 7-3=
14=___x___  T72+8= 16-7 =
878.29 384.5 mil feet4i
$87¢ miles 3 feet 4 inches 1213000

135.73 - 92.8 miles X7
+82.77 -

Color and write fifty-five
hundredths as a decimal and

. What is Mark's average score?

fraction.
What fraction? What fraction? Reduce this Compare.
———A ] improper fraction. Use >, <, or =.

o

4
2

Roloo

The average laundry worker folds five
towels in a minute, but Miss Parker
folds eight! At the end of an hour,

72

how many more towels has she

folded than the average worker?
1 3 i) 4
3 4 9712 3 5
L] 1 L 3
t 8 -2 +172 -270

3.14
X
Complete the sentences using the words perimeter, area, or volume.
Length times width gives the of a rectangle or square.
The sum of all sides gives the ___of apolygon.
One side times four gives the ~___ofasdquare.
Length times width times height gives the of a box.

Give the length in centimeters and millimeters. or

= ||lill|l||ll||l|ll|lIIl|ll|l|l|ll|l|lll|I|I|HII|IH|]IHI|IIH|Il|l|ll|llllll|llI||II|I|Ill||IH|]I|II|IIl||IHI
4 5 6 7 8 9 i0 11 12 13 14

The circumference is always 3.14 times the diameter! Find the circumference of each.
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DROPS IN THE BUCKI‘T - MIATH LEVEL E - NUMBER 30

NAUE L0 SCORE
:. * 28 = _ Xj_ 16+8=" 13-9= Ny
9 <o 45:;%;__ 20+5=T’ Tl T : 96

S84’ miles * 4081
iles 3 eet 4 inches & , 2)3—000— 1 3 8
' G

- 92 8 mlles NI K%
RS N f .3 ‘ EHED e eo = .
Ll 449 ’ T Y 'G .7 ‘Tﬂ ‘ . E
ey [ T Q&\@ R _,l\o;"fi' 9 %

Color and write fifty-five - .
hundredths as a decimal and ) fEQ
RN EEE fractlon ' .

° % | : v
7 — i
7 g = i
RIT # .
i

What fraction? What fraction? Reduce this Compare. i o !
improper fraction. Use >, <, or =. 8 "7/

4=
2

The average laundry worker folds five
. towels in a minute, but Miss Parker
2 folds eight! At the end of an hour,
how many more towels has she
folded than the average worker?

3 1 4
1B J’ & ‘.
Complete the sentences using the words per/meter area, or volume. ‘ |
Length times width gives the (AP of a rectangle or square. |
The sum of all sides gives the __ 10 ¢ Vit - ___ofapolygon.
One side times four gives the 1 2ley o000 ' ofasquare.
Length times width times helght glves the _ \ AWWIINNE? of a box.

Give the length in centimeters and millimeters. ! " or 4 TV

S,
I|IIII|HII|IIII|IIH|IIIIll|Il]IllllIlll]IlIIlIIIl]HII|IIllllﬂlllIII|IIH[lIII|IlII|IllllllllllllllllllllllllIIII
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NAME T 217 PP1Y SCORE
e SRS T A S T NAS D) § N B SR (e TN = P el Byl IV S5 AN e AP © G IR L Ry T O S X S S ey ey oy - T} VT C A o
10+10 = 80-10= 0x80= 80+2=
900 + 300 = 170 - 90 = 30 x50 = 100+2 =
200 + 100 = 100 -40 = 20 x 30 = 180+3 =
36.9 + 18 = 100.4°F 18,5
- 98.6°F x .02 IO

If vou arrange a set of numbers
from smallest to largest, the
number in the middle is called
the median. Circle the median
number of miles Lou ran.

Miles run per week
13 5 61 7 8 & &5

Color and write twenty-eight
hundredths as a decimal and
fraction.

How many Four ounces is Reduce this Compare.

doughnuts are what part of improper fraction. Use>, <, or =.
in 1/3 dozen? . apound?

1y 1o Lo 4 _ 10 -
3 -3 7 16 4

Frank builds fence sections using eight
vertical slats nailed to two horizontal I
boards. How many fence sections can
he make with 32 dozen slats? How
many horizontal boards will he need?

@01 ool
+

Blw o=
Wiy W=

|

Perpendicular lines intersect to form right angles. Label these lines parallel or perpendicular. §
A. : B. C. D.

Find the circumference. Fingsthc? area. Find the volume.
yas

§.14 22 yds 22in
_ 17 in
A=
Give the length in centimeters and millimeters. -
&0
HII|IiII|HII]IHI]HII]HH]HII[IIlI|HlI]HH]IIII]HH]HH]IHIIHHIHIl|Hll|IIH|Illl]llllllIII|HI{]HH[IIHIHII|IIIIIHII|IHIIIHI[IIH
emi 2 3 4 5 6 7 8 9 10 11 12 13 14

93325103 AT T RN AT 040 NS e 3O A S i S AT = SAL SIS E ARSI LT =t ST TN S ALt A LAV D

1. arv Jo H
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BROPS IN THE BoUCrmy - JWA’E‘H HEVEL B RUMBER 32
NAMR Ko,a.A. §qum:

7
SRS E 0 IVl b el AT AN e

SaT IS AT o X B S/ e ZEANT N P e Lt A L VU S oI e UM 0O T RD S T A RV T L N M b 2 ST A L e AN - 2 o TN TS G A v

10+1o=2,© 80-10 = “‘1@ 0x80:® 80+2=L{J
900 + 300 = |]200 170-90:@:3 30x50= 160D 100:2=6
{ 200+100=2DC 100-40= (47 20x380= (g0  180+3= (4O

I —=

| 36.9+18= 1 . 00 4oF fhe ) 2 8 2/

ﬂg-&_ .t_%% -% __98.60,:OF X OE Qt, @ 704 R

> 100- 4 ol _o- - JO -Z‘-ﬂ~
; —th

6 If you arrange a set of numbers Color and write twenty—eight
19¢ from smallest to largest, the hundredths as a decimal and :
v : number in the middle is called SE) fraction.
15 ; the median. Circle the median slele ~
£ ..” number of miles Lou ran. 7 g‘:: : -@’»g
; Miles run per week pyF e:lg
T e ne = Tore
How many Four ounces is Reduce this ~ Compare.
doughnuts are what part of improper fraction. Use>, <, or=.

in 1/3 dozen? . apound?
e -] g-l - ERY4E;

Frank builds fence sections using exght
vertical slats nailed to two horizontal
boards. How many fence sections c Can
he make with 32 dozen slats? How

many horizontal boards will he need,%

ﬁ
&

" =
4 1 1
8 2% 3:‘53‘"63 ﬁ'"z
S 3 2 1
t8 n +4 +2 3 -2
)AL =€ A
%:i?‘ﬁﬁ u‘“i@# %_& K 2.

Perpendicular lines intersect to form right angles. Label these lines parallel or perpendicular. g

| - —— X
| A _Donpon, B._PANRMN. o Pl b DA .

Find the circtilmference. Fingsthde area. Find the volurpe

25 56@
3.14 22 in Yz_‘z_ lr)
X 3 17in 50 5O
A Hﬁzﬂ +A2,0 2 mﬁ& 7 ‘
C=__ Q.42 A=___TTRY 9 ude” A B 774
~ 1
Give the length in centimeters and mllllmescers e ] Unor 14 Ayl
ﬂz.
Y0)
IHI]IIII|(III|IIHIIIIHIIII]IIHIHII]Hll]llﬂ]lIIIIHII]IIIIHHIIIIIl|ll||]llll|ll|l|l|l|||lH,IIIl|IlII]IHI]IHT]]IH]IIH]IIHHTIIIllll]ﬂﬂ]
cm 1 2 12 13
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DROPS IN THE BUCKET - MATH LEVEL E NUMBER 32
NANME e iNeSaldr] Scorr

60 + 40 = 50-40 = 6x10= 90+ 3=

700 + 100 = 110-20 = 0x60= 120 +4 =
400 + 200 = 140 - 50 = 50 x 80 = 450 +9 =

249+65+4.2= 2 weeks 3 days 10.82 )39.40
- 5 days x 8.5 4. pad. Al

Color and write twenty-nine
hundredths as a decimal and
fraction.

Circle the median height.

4ecm 6em 7cm 7cm 9cm 9cm 13cm

How many muffins  Eight ounces is Reduoe this Compare.
are half a dozen? what part of improper fraction. Use >, <, or=.
1 _ L a pound?
5 X 12 =5 = 5
TE =

6 =
4

A roll of film for this camera costs $4.79. There
are 16 shots on the roll. It costs $12.17 to get
the film developed. What is the total cost of the
16 photos? How much does each snapshot cost
including the film and the developing?

9

wind WIN
ol Mw

+ + 6

-

|
|

Label each box whole numbers, mixed numbers, proper fractions or improper fractions. '

[%ﬁj[ ﬁ)Cgmj[%@Jf

Find the circumference. Find the area. Find the volume.

C=

Give the length in centimeters and millimeters.

G}%‘:
|l|H|I|lI|I|III||IIII|HH|IHl]l|II|HII|IIH|IHIlllII|IHl|lIlI|Il|]||IH|III||IIIl|IHI]HHIIIIIIIIIIIIHIHHI|IIHHIII|HH]HH||IH|IIII
cm 1 13 14

© 1998, Mary Jo Hand
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DRrRoOPSs IN THE BUCKET - MATH LEVEL B NUMBIR 32

NAME .S(‘(DRL
60 + 40 = M}@' 50 - 40 = [0 6x10= (JO 90+8=30
700 +100 =00 110-20=00 0x60= 0 120+ 4 =30

400 +200 = (p()¢y 140-50= fm 50 x 80 = LYJOT) 450+ 9= BO

[
24.9 + 65 + 4.2 = 2 wesks 3 days 10.82
\ f[i&g -5 days X 8.5 4)39.40
§ E wit Bela,

S pek =

Color and write twenty-nine =
hundredths as a decimal and

fractlon
.29
24
i EYa
How many muffins  Eight ounces is Reduce this Compatre.
are half a dozen? what part of improper fraction.  Use >, <, or=. ,:
_ _ @ a pound? = n
w2 - 1T= = |

A roll of film for this camera costs $4.79. There 12, 177
are 16 shots on the roll. It costs $12.17 to get X
the film developed. What is the total cost of the ~— %L:?;
16 photos? How much does each snapshot cost I @-‘% (o

including the film and the developing? @ [. Ol —

A o3 oy L

32 3 5
L BE o E —3
2 z:l¢ b=l =z

Label each box whole numbers, mixed numbers, proper fractions or improper fractions. |

Traptr o) Imnpoper m\w\@\\@ Py VYA YO m
9, 30 L 33, 53

Find the circumference.  Find the area Find the volume. L@@

344 2 @ 30 ft = -1
: m 1400
i,,,il | ”i’%% {@ eoft o/ ft¥ BT |
c. B3R, 2L L. =1L Ve @u@@

Give the length in centimeters and millimeters. % 2 or ‘% T A
R | 2 2,
@ OO
HII|I||I|I|II|IIII]III||Illl|lIII|III||HII[IHI|HII|IIH[]HI]IIHI|III|IIII|Ill|||l|l,llll|||ll]|||l]lIII|IIH|IIII]IIIIHIH[IHI[IIH]IIH]HII
cm 1 2
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DROPS IN THE BUCKET - MATH LEVEL B NUMBER 33
Nawe ________ Thufadas, DOORE:

80 + 30 = 90 - 80 = 2x20= 80+4 =

300 + 200 = 120-70 = 80 x 40 = 150+ 3 =
100 + 600 = 110-80 = 0x30= 560 +8 =
48.1 150.3 - 30.15 = ;

16.7 003 ~30.15 $1§ gg 24)185.04
+ 86.8

Circle the median price.

Color and write thirty hundredths f
$23 $20 $16 $6 $5 $4 $3 :
557 _:";’“" @ﬂ)@

as a decimal and fraction.

How many Twelve ounces is Reduce this Compare.
cupcakes are in what part of improper fraction. Use >, <, or =.
1/4 dozen? a pound?

8
6

These are Dr. Ryan's yearly expenses: assistant
$22,000; office manager $24,000; insurance
$43,000; office rent $12,000; supplies and other
expenses $7,000. How much must he make
every month just to pay the expenses?

oo W=
alw oin

59

Write each number in the right box. 4598 23 675 88 0 9999 84 7
one-digit numbers two-digit numbers three-digit numbers four-digit numbers "\ §

Find the circumference. Find the area. Find the volume.

1 km
8m
C= A=
- Give the length in centimeters and millimeters. or

IH[[IHI]I||I|lIllllIIl]lllllllllll|II|IIH|IHI|1HI]IlIllHHIHIIIHHIIIIIIIIIIIIHIIHIIIIIH,HIIIHHIIIHIIIII[HIIIIIIIIHTT]HII]IHI[IWI
cm 1 2 3 4 5 6 7 8 9 0 11 12 13 14
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DROPS IN THE BUCKET - MATH LEVEL § RUMBER 33
Namp ﬁ( LIYY I /fi _ ScoRrg

oS30 ites = SO ST e

Hoso+3o &?ﬁ%@go 80—\0 2x20= if{@ 80+4 = ‘2@
300+200=HK00 120-70=60  80x40=3200D 150:3=gp

100 +600 ==} 110-80=3() 0x30=p) 560+8=® T

2 ! & V12 @ . :

48.1 1508030.15= 1 $12.35 G&f. >

16.7 e @nﬂﬁm 126, Q‘S : x 52 %-3 24)185.04 . >;/ :

e 1206 B +.B04S  JO70 =p

010 156.30 L1950 |
: ) €0

Circle the, édi'ari'p'rice. Color and write thirty hundredths -

$23 20 %1_ 5 N as a decimal and fraction.
S
What is the avé’r?@e\prloe? ol % 30
23 '=n Al -
75 0L AT B
— = ':;1?“3 EYENLY E@%:) i
~ How many Twelve ounces is Reduce this Compare.
cupcakes are in what part of improper fraction. Use >, <, or =.

1/4 dozen? a pound?

¥
2 L
Wz 2 18  &- |53

These are Dr. Ryan's yearly expenses: assistant ° =2 000/
$22,000; office manager $24,000; insurance 24 pOD
$43,000; office rent $12,000; supplies and other 3000
expenses $7,000. How much must he make 12 600

A . "1 000
every month just to pay the expenses? 1 AC AP
3 1 2 T

g §$L@ 3§ ¥

5 5 & = 3

+ 8 8, *lB J

- - [ qénn =
Iy -1 48-5

erte cach number in the nght box 4598 23 675 88 o 9999 84 7 |
one- dlglt numbers two dlglt numbe three dlglt numbers four dlglt numbers

Find the circumference. |4 Find the area. Flnd the volume.

50“‘}/ ) 12 yds *g.gg . QV% 725
w33 2 9 G -@jﬁ =13 |

hadz © p 4 a;_ 1y

c-+a420 A= LI A I 79‘%

. Give th?leng"fh in centimeters and millimeters. % 2ﬁh\or

ﬂ]ﬂﬂl“lll]llll]llll]llIl|ll|l|lIIIIHHHHl|HH]!IH]HIl]HHl]IIIIHH,Iill]llﬂ]llll|IIH]H|I[|I||]IIHIIJHIIIII]IHIIIIH]IIHIHHIIIII
cm 1 2 11 12 13 14
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LE NUMBER 34
SCORE

NAME __ Py

20 +90 = 70-10=

9x20= 40+2 =
800 + 500 = 180-90 = 30 x 30 = 250 +5=
900 + 900 = 110-40= 10x 50 = 210+7=

$907.45 6051.0 3.4x.07 =
3489 iy .3)6.87

+ 5.62

Color and write forty-five
hundredths as a decimal and
" fraction.

Circle the median weight.

(e} (SO GO 6% g%

(aOYRRY AT EXD €15 EED

3lbs. 5lbs. 5Ilbs. 9lbs. 13Ibs.
What is their average weight?

How many One ounce is Reduce this Compare.
cupcakes are in what part of improper fraction. Use >, <, or=.
1/3 dozen? a pound?

10 —

6

Rdlon

Mr. and Mrs. Kenner have a new baby. The g
baby needs to be fed every three-and-a-half "
hours around the clock. The baby was fed ¢
at 9:00 in the evening. What are the next

three feeding times for the baby?

Numbers you can multiply to get 6 are called the (factors, addends) of six.
The factorsof8are1, __, ___,and8.

The factors of 12 are 1, 2, . , ,and 12.
The factorsof 177are ___and __.

Which of these would have the greatest circumference? the least?

]IIHIIiH|I|II|I|II|IHI]IIII
1 2 3

T
cm

|IH||IH||HII|HH'III||HlI|IHI|lIII|II||||l,|Illlllllllllllllllllll|Hl[lHllHIl|II||||l||]|HI]l|H|IIII
4 5 6 7 8 9 10 - 11 12 13 14
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DROPS IN THE BUCKET - MATH LEVEL E - NUMBER 34
NAME lCoud__ . SCORE ___
20+90— H(ﬁs 70-10 =90 9x20= RO  40+2=20 |
800+ 500 = |200) 180-90=0D 30x30=08> 250+5=£0
900+ 900 = |4¢D 110-40=THD  10x50=:35D 210+7= 2

. TG
$907.45 60570 wy’, 3.4 x.07 = ok ’“%Ag
; 13.2 ée“’g’ Q) “b j
+ 5.62 % g o7 »\33 .,,m_i& pA|
R I A
° »Q25 ,ﬂ:%g: 7 @
Circle the median welght Color and write forty-five
B £ % hundredths as a decimal and
/3D 43 42 4D ; -
%M M% M i QHERE + fraction.
3lbs. 5 lbs. lbs) 9lbs. 13 Ibs. vRIE U8
a What is their avera ewelght’? AL 'TBW@
35 535 L
s'ﬁz,. | o £
S5 How many One ounce is Reduce this Compare.
cupcakes are in what part of improper fraction.  Use >, <, or=.
‘ 1/3 dozen’? pound? Y o
3 {\ T 2 i 1A
= XL&_M : Lpﬁ, ‘) = M’ﬁ 4

Mr. and Mrs. Kenner have a new baby. The
! baby needs to be fed every three-and-a-half "
hours around the clock. The baby was fed
at 9:00 in the evening. What are the next
three feeding times for the baby?

3 3= 1 Y
Z z§g 65 b7 k3
.3 + 3 ‘“’ +2 % -4 3
Beigly 14 €89 2%
Numbers you can multlply to ’iet 6 are called the(fgctoc@ addends) of six.
The factors of 8 are 1, _a, - aﬁz]d 8®
The factors of 12°are 1, 2 &, @  andi2. éﬁ @ |
The factors of 17 are __{_and _E:Z Jm e |

Which of these would have the greatest circumference? Wl &ithe loast? 122

‘33 A
XY

; ;h -
1390 2 C

Give the length in centimeters and millimeters. 'ﬂﬁ { w or @@ Mvvy

5 Hem 17

o I
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